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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following is discrete in Bohr’s theory?

(a) Linear momentum

(b) Velocity

(c) Angular momentum

(d) Energy [RRB JE 23 May 2019 Shift 2]
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Q. Which of the following is discrete in Bohr’s theory?

(a) Linear momentum

(b) Velocity

(c) Angular momentum
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Q. In this question, two statements are given followed by a conclusion. Find out
which of the alternatives justifies the given conclusion.

Statements:

1) Coals are atoms of carbon.

2) Diamonds are atoms of carbon.

Conclusion:

Diamonds are coal.

(a) The conclusion drawn is false

(b) The conclusion drawn is irrelevant

(c) The conclusion drawn is definitely true

(d) The conclusion drawn is probably true [RRB JE 23 May 2019 Shift 2]
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Q. Galvanisation is a method of protecting iron from rusting by coating it with a
thin layer of :

(a) Copper

(b) Zinc

(c) Silver

(d) Aluminium [RRB JE 23 May 2019 Shift 2]
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Q. Soaps are sodium or potassium salts of long chain :
(a) Carboxylic acid

(b) Alcohols

(c) Aldehydes

(d) Esters [RRB JE 23 May 2019 Shift 2]
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Q. Amoebiasis causes:
(a) Dysentry

(b) Headache and cold
(c) Fever

(d) Severe cold [RRB JE 23 May 2019 Shift 2]
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Q. Unsaturated carbon compounds will give a flame with lots of black
smoke.

(a) Yellow

(b) Blue

(c) Green

(d) Red [RRB JE 23 May 2019 Shift 2]
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The weakest of all fundamental forces is

ol
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gravitational force (WW )

electrostatic force (Tagd o)

magnetic force (ﬂﬁiﬁﬁl’ o)
nuclear force (AR TeT)
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The weakest of all fundamental forces is

ol

S o W »
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gravitational force (Wﬁ'ﬂ CLS))

electrostatic force (Tagd o)

magnetic force (ﬂﬁiﬁﬁl’ o)
nuclear force (AR TeT)
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o 0w B

With increase of temperature, friction

Adda

aTgeT 3 g & ary ador gl

increases (d&dT &)

decreases (€&dT &)

remains unchanged (G &dT &)

may increase or decrease (¢ Hohdl % gl Y< Hehdl %')

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

o 0w B

With increase of temperature, friction

Adda

aTgeT 3 g & ary ador gl

increases (d&dT &)

decreases (€&dTl &)

remains unchanged (G &dT &)

may increase or decrease (¢ Hohdl % gl Y< Hehdl %')

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Que: RBCs are formed in the

adults.
Us: 9I¥h # RBC &T faATor

Addai24

in the

A BTl

A. Blue bone marrow
B. Red bone marrow
C. White bone marrow

D. Black bone marrow
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Que: What is the Escape Velocity for the Moon?
U IGHAT & foT gelrde 991 &=am 82

A. 11.2Km/s
B. 2.4 Km/s
C. 224Km/s
D. 5.6 Km/s

e
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Que: Geostationary Orbit is at height of

U4 HEW heT fohe a1 W &2

A. 6 KM

B. 1000 KM
C. 6000 KM
D. 36000 KM

e
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Que: Polar Satellite will be most suitable

for

U4 AT 3UaE & forw Fad U e

e

Satellite Phone
Satellite Radio

Weather Forecast

S 0 ™ >

Television
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Que: In human body, cartilage is found in-

74T ATd R H PIfcelsT UR—IT SITdT -

A. Tongue
B. Nose
C. Chin
D. Nail

e
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Q. What is the resultant resistance if two 2 () resistors are connected in parallel?
(a) 0.5 Q

(b)1Q

(c)3 Q

(d)2Q [RRB JE 22 May 2019 Shift 2]

7.9 2, 2 QUfANY AR HH A s ST ar aRome ufady &= ghem?
(T) 0.5 Q@

CURKY

() 3 Q

3 2 O [RRB JE 22 May 2019 Shift 2]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. What is the resultant resistance if two 2 () resistors are connected in parallel?
(a) 0.5 Q

(b)1Q

(c)3 Q

(d)2Q [RRB JE 22 May 2019 Shift 2]

7.9 2, 2 QUfANY AR HH A s ST ar aRome ufady &= ghem?
(T) 0.5 Q@

CURKY

() 3 Q

3 2 O [RRB JE 22 May 2019 Shift 2]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. What is the nature of bleaching powder?

(a) Reducing agent

(b) Blistering agent

(c) Sulphonating agent

(d) Oxidising agent [RRB JE 22 May 2019 Shift 2]

. et ot &r ypfa Far gt &7

(T) HH TRA dTell Toic
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(I Femafenr vele
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Q. Which of the following is a saturated hydrocarbon?
(a) Methane

(b) Propylene
(c) Butadiene

(d) Acetylene [RRB JE 22 May 2019 Shift 2]

. Aeafaf@a # & Bl a1 T TqT TTS3Ihe &7
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Q. The main function of vitamin Kis in:
(a) SKin health

(b) Blood clotting

(c) Immune system

(d) Calcium absorption [RRB JE 22 May 2019 Shift 2]

u. e k&1 J&7 T :

(T) oddl &g

(1) & & YFb

() gfazer gomel

() BRI aRnyor [RRB JE 22 May 2019 Shift 2]
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Q. is the matter or substance through which sound is transmitted.
(a) Interface

(b) Medium

(c) Environment

(d) Surrounding [RRB JE 22 May 2019 Shift 2]

as et a1 ugry § ouw @afs &1 g9ur gidr §

T.
(T) STHA
() A=A
(&) gATaRoT
() 3rEaE [RRB JE 22 May 2019 Shift 2]
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Q. The mass number of deuterium is:

()3

(b) 2

()1

(d) 4 [RRB JE 22 May 2019 Shift 2]
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Q. Which of the following is NOT a multi-seeded fruit?

(a) Papaya

(b) Litchi

(c) Apple

(d) Pomegranate [RRB JE 22 May 2019 Shift 2]
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Q. Functional group -CHO is present in which of the following?

(a) Ketone

(b) Aldehyde

(c) Alcohol

(d) Carboxylic acid [RRB JE 22 May 2019 Shift 2]
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Q. Which of these is NOT a bone in the human body?

(a) Anvil

(b) Hammer

(c) Stirrup

(d) Axe [RRB JE 22 May 2019 Shift 2]
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Q. A homogeneous mixture of two or more substances is known as the:
(a) Solution

(b) Fission
(c) Colloids
(d) Suspension [RRB JE 22 May 2019 Shift 2]

w.2Y a1 & ¥ 3% uerdt & AN AT o Fea §
(T) =

() frEgsa
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